

$$D_f: \log_{x-1} x > 0 \Rightarrow x-1 > 1 \Rightarrow \boxed{x > 2}$$

$$g(x) = \sqrt{-(x^2 - 2x + 1)} = \sqrt{-(x-1)^2} \quad x=2 \quad \textcircled{1/8}$$

$$D_g: \{2\}$$

$$D_{g \circ f}: \{x \mid x \in D_f \text{ and } f(x) \in D_g\}$$

$$\text{دقت کن!!} \quad x \in [2, \infty) \quad \sqrt{\log_{x-1} x} \in \{2\}$$

I

$$x-1 = 2 \Rightarrow x = 3 \quad \text{II}$$

$$D_{g \circ f}: I \cap \text{II} = \{3\}$$

$$f(x^2 - 7x + 11) = g(2x - 5)$$

$$2x^2 - 7x + 11 - 5 = (2x - 5)^2 - 2(2x - 5) + 1$$

$$\Rightarrow 2x^2 - 7x + 11 = 4x^2 - 20x + 25 - 4x + 10 + 1$$

$$\Rightarrow 0 = 2x^2 - 20x + 14 \rightarrow x = \frac{-b \pm \sqrt{b^2 - 4ac}}{2a}$$

$$= \frac{20 \pm \sqrt{400 - 112}}{2} = \frac{20 \pm \sqrt{288}}{2} = \frac{20 \pm 12\sqrt{2}}{2}$$

$$= \frac{2 \pm \sqrt{2 \times 11}}{2} = 1 \pm \sqrt{\frac{11}{2}}$$

$$\left(1 + \sqrt{\frac{11}{2}}\right)^2 + \left(1 - \sqrt{\frac{11}{2}}\right)^2 = 2 + \frac{11}{2} + 2 + \frac{11}{2} = 11$$

$$= 100 + \frac{11}{2} = 100 + 5.5 = 105.5$$

$$f \circ g(x) = 2(x^2 - 4x + 11) - 2 = 2x^2 - 8x + 20$$

$$g \circ f(x) = (2x - 5)^2 - 2(2x - 5) + 1 = 4x^2 - 8x + 11$$

$$5^2 - 20 = \left(\frac{5}{2}\right)^2 - 2\left(\frac{5}{2}\right) = 4$$

ع	٢	٤	٥	٦	٧	٨	٩	١٠	١١	١٢	١٣	١٤	١٥	١٦	١٧	١٨	١٩	٢٠	٢١	٢٢	٢٣	٢٤	٢٥	٢٦	٢٧	٢٨	٢٩	٣٠	٣١
---	---	---	---	---	---	---	---	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----	----

$$f(\log_x x) \leq g(x) \Rightarrow a^{\log_x x} \leq \log_x x$$

①

$$x^{\log_x x} \leq x \log_x x \Rightarrow x \leq x$$

$$f(n) = a^{\log_x n} = n^{\log_x a} = x^{\log_x n}$$

$$g(n) = \log_x n = n \rightarrow n \leq n \rightarrow \cdot \leq n \leq n$$

$$f\left(x - \frac{1}{x}\right) = x^{\log_x \left(x - \frac{1}{x}\right)} = \left(x - \frac{1}{x}\right)^{\log_x x} = \left(x - \frac{1}{x}\right)^1 = x - \frac{1}{x}$$

②

$$\left(x - \frac{1}{x}\right)^x = x^x + \frac{x}{x^x} = x^x + \frac{1}{x^{x-1}} = t$$

$$f(t) = t^x + t \rightarrow f(x) = x^x + x$$

$$O(f) = \{n \in D_f, g(n) \in O(f)\}$$

$$O(f) = n^{\cdot}, \wedge n - n^{\cdot} > \cdot \rightarrow \cdot < n \wedge n \text{ (A)}$$

③

$$D_{f \circ g}(-\infty, 14] \rightarrow (14)^n \rightarrow (-\infty, \xi] \rightarrow D_{f \circ g} = (-\infty, \xi]$$

$$A \cap B = \{ \cdot, \xi \}$$

